To Increase Gross Profit, the business could:

» Switching to cheaper suppliers to reduce cost of sales

» Increasing price of product which could increase sales revenue

To increase Net Profit, the business could:

» Reduce staff salary to reduce expenses

» Locate in a cheaper area to reduce rent expenses

Gross Profit Margin and Net Profit Margin:

Gross Profit Margin (GPM)

Net Profit Margin (NPM)

Shows the Gross Profit as a % of the sales
revenue

Shows the Net Profit as a % of sales revenue

Gross Profit  x 100

Sales Revenue

Net Profit x 100
Sales Revenue

Example

£325m/£650m * 100 =50%
This means that for every £1 made in sales, 50p
is Gross Profit

£78m/£650 *100=12%
This means that for every £1 made in sales, 12p
is Net Profit
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